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1. Plot the points on the graph below. Label each
(—4,-2)
(5,-1)
(0,2)
(_713)
(4,6)
(7,0
(0,0)

(4! _6)
(_51 _7)
(1,4)
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2. For each of the points below, label the quadrant it belongs to, or if it's one one of the axes
(which one?). Do not graph

a. (900 Xt
b. (14,-3) QN
c. (-2560) QW
d. (0,—-11) - w
e. (—22,-45) Y %
f. (2011,50.8) &1
3. Do the points satisfy the equation?
a. 3x+y=8 i) (2,3) ii) (0,8) iii) (8,0) 3 (2)+3#R
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| --5'(;-'2_,\5'-‘ "I(T‘Q""'\
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Solve for y in ez
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Graph each line
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x—y=3

10x = -5y

s =
x+3y=6

the equation

X=Yy
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x—y=2
X=o =Yy
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8. Graphthepairofequationsonthesamegraph. f

a. y=-2xandy=—-2x—3

b. y=—%xandy=—%x+3
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9. Find all the intercepts on the graphs below. List each as a coordinate point.
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10. Graph the lines by using intercepts.
a. x+8y=38 _ [ SEIINEEENEREE IRNEE
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11. Compare the slopes of the lines. Which Iing”bﬂqﬁ_g__l_grgg{ﬂs__l_g pe?
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12. Find the slope of|the line connecting the given points.
a. (—2!8)1 (1,6] —-Q’ = —Z = == -2——
=t B =
b~ (Snl)i('_zll) \"'l._ = __CJ__ — O
—2-% -7
c. (3,1),(26) -t _ 5
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d. (6,-6),(6,2) 7-EbY . B MG{%V, o
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13. What is the slope of the line?
a. 2x+y=7 \)_;_.-2%1-'% m=—3
b. x=1 mﬁvmﬁ
- e W o By %D -
c. 2x—3y=10 3= ff‘o—) 7 = B¥—3F m=3
-3 =
d y=—4 (®)




e. y=-03x++

2.5 M= 3

14. Are the pairs of lines parallel, perpendicular or neither?

-
, {y—9x+3
' =
y==35%
{y=4x—2

4x +y =5

{10+3x=5
5x + 3y =
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15. Find the equation
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of the I|ne with the given propertles Put the equation in slope-intercept

form, and in standard form.

a. m=5b=-+
1

b. m——z,(—B
1

9 m—'-g,b—

d. m=3,(22)

e. Horizontal line through (3, —4) \/ 5 "Ll
f. Vertical line through (7,1)

g. Parallelto 3x|— 4y = 8through(5 -2)
e L A

h. Perpendicular
m-= - 2.

i.  Through the points (6, 3) (7,6)
wnw= b—3 = 3‘ =3
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16. Which of the relation:

a. {(2,4'), (6-9)r (_
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J Vertex g g,

C. y=
R (~e9, ©7)
17. Find the valyes ji¢

a. f(x)=x?2_¢g

h. flx) =33 <7
fx)=v2"%

d f(x) = |x+1]
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2), £(0), F (=3) for the functions.
A Ve lfg=
F)=-6, f-3)=96=3
fGy =353, fFlo)=—7
f(-3) = —9-3=2)&
f()=0, F=JZ, F=3

=3, flo=1, f(-3)=

D

e graphs of the System is consistent or incon

“— no a

not-a
DY [,
K44

b

- g,

3 l-55, V5

sistent, and if applicable,

independent or dependent,
-
i \ 3
\
§
(.L \\.A i
i 2\
}‘mﬂzpe/ww NERNER) 1
> g ! B
—— O it S ; BFAIIY [TRIT5%6
VS o \ |; ‘l“'\.,‘
4 I
"1- C. ‘b X b
a. .
A
stk
4 L.

~

v




19. Solve the systems graphically. Clearly state the solution. Slietch the graph.
x—2y=2 —29=-x12, N Addiaicd e
& WBx+2y=-2 S s Bl
""z_t‘._ﬁ 2 = Y= 2P :
b {x=—5
y=x+5 “\\-—b
& {2x+y=0 N = 2% (’510)
2y =6 —4x = % =D S ——
z 2 Y=572K N
g {3x+y=(P Y=gy /no
© 2y = —6x N
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20. Are the points s

a. (-2,-4)
b. (7,2)
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olutions to the system?
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{2x—-3y=8
x—2y=6

2(~2) ~3(-)

27)-3(2) >
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